TET 2017 - Final key

Paper-IIl - Telugu Language - Set-0-101
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Day-8 — Session-1 — Set-O — Telugu Language
Psychology — Paper- 3 =Set = 3

To prove his theory the psychologist who used sentences which are
grammatically correct but with no meaning in them

1. Chomsky
2 Skinner
3. Pavlov

4 Bandura
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As police are punishing drunk and drive people, Rakesh who has the
habit of drinking, decided not to drive in a drunken state. As per
Kohlberg his morality level is

1. Pre conventional level
2. Conventional level

3. Post conventional level
4. Non conventional level
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The concept of Scaffolding in learning was introduced by
1. Chomsky

2 Bruner
3. Piaget
4 Kohler
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The following is different from the thoughts of Gestaltists
1. insight

2. configuration

3. learning through parts

4, perceptual re-organization
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Raju got good marks by studying well in class X because of his
teachers encouragement. But he failed to study in intermediate due
to lack of encouragement from his Lecturers. The principle
indicating this is,

1. Reinforcement

2 Extinction

3. Spontaneous recovery
4 Generalisation
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The wrong statement regarding Classical Conditioning

4.

This is known as 'S-type' learning
Here the relation is formed between stimulus and response

Here there is no need to provide stimulus in advance to get
response

The role of learner is passive
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As the teacher appreciated Ramu for his neat handwriting, other
children also tried to improve their hand writing to get reinforcement
like Ramu. Here the type of reinforcement expected by other

students as per Bandura

Self-reinforcement
Indirect reinforcement
Continuous reinforcement

> e

Fixed ratio reinforcement
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Incorrect statement regarding collaborative and cooperative learning

1. Collaborative learning is teacher centered,
Cooperative learning is student centered
2. Teacher acts as a facilitator only in both

Participation of students is active in both

&

There is a scope for developing social skills
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The Intelligence Quotient (1Q) of Mild mental retarded persons
1. Less than 25

2. 30to 50

3. 50 to 70

4. 70 to 90
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10.

11.

In a “Stated Interest”

1. The teachers will know the interests of the pupils through
observation

2. The parents will know the interests of their children though
observation

3. The children themselves announce their interests

4. Interests are assessed through paper pencil tests.
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Differential Aptitude Test was developed by

1 Thorndike

2 George K Binnet
3. Pavlov

4 Alfred Binet
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12.

13.

Following is not a ductless gland

1.

2.
3.
4.

Thyroid
Adrenal
Pituitary

Liver
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Kiran wants to go to college on scooter. But his father refuses to buy

him a scooter. Then, he made friendship with his classmate having

scooter and went to college on scooter. This is an example for

1
2
3.
4

Compensation
Projection
Displacement

Rationalisation
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14.

15.

Mohan was offered a job in two renowned companies. He is fond of

working in both the companies. But, he is unable to decide which

company he has to choose. Mohan’s conflict is

1
2
3.
4

Approach - Approach
Approach - Avoidance
Avoidance - Avoidance

Dual Approach -Avoidance
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Ravan’s standard progressive matrices isa/ an

1.

2.
3.
4

Personality test
Attitude test
Aptitude test

Intelligence test
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16.

To prove the affect of heredity on the development of an individual,

Goddard conducted experiments on

1 Kallikak family
2 Edward family
3. Jukes family
4

Darwin’s family
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17.

18.

Kumar learned to draw diagrams with his right hand. But he is able
to draw diagrams with his left hand also without any practice. Here

the transfer of learning is

1 Positive
2 Negative
3. Zero

4 Bilateral
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Elaborated rehearsal is required for this type of memory

1. Short term memory
2 Long term memory
3. Sensory memory
4 Logical memory
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19.

20.

In a study on “the influence of parental educational qualifications on
the achievement of children”, parental qualification is a/an

1. Independent variable
2 Dependent variable
3. Intervening variable
4 Group variable
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Following is a tool to assess attitude
1. Social Distance Scale

2. Army Alpha Test

3. Rorschach Ink Blot Test

4,

Simon Binet Test
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In Child Rights, ‘Right to get nutritious food’ comes under

1 Right to protection

2 Right to participation

3. Survival Right

4 Right to development
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Percentage of woman members in School Management Committee
as per RTE-2009 is
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1 30%
2 33%
3. 40%
4 50%



23.

The beginning sentences of NCF-2005 are taken from this book of
Rabindranath Tagore

1. Civilization and Progress
2. Poems of Childhood
3. The Untouchable Woman

4, The Village Post Master
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24,

25.

A child who calls her mother as Mummy started calling all the

woman as Mummy. This is because of

1
2
3.
4

Assimilation
Accommodation
Organization

Animism
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The gland that directly affects the emotions of an individual is

1
2
3.
4

Pituitary
Adrenal
Thyroid

Para Thyroid
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26.

27.

If a person’s chronological age and Mental age are equal then his

Intelligence Quotient (1Q)
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If school gives satisfactory experiences to the pupils then they will

attend to school regularly. This is an example for

1 Law of readiness
2 Law of Exercise
3. Law of effect
4

Law of Multiple responses
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28.

29.

In a “Parallel Play” children will

1.

2.
3.
4.

Exchange their toys
Imitate other’s play
Play together as a group

Play with their parents
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Following is related to psychomotor domain

1
2
3.
4

Precision
valuing
Evaluation

Receiving
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The leadership style of the teacher who gets active participation
from every student along with him in making decisions is

1. Participatory
2 Directive

3. Leissez faire
4

Permissive
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39.

FEGIRT. B’ PG Ko FEoTH

1.
2.
3.
4.
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61.

62.

63.

English — Paper —I11 — Set - 3

Mohan said, 'Daddy, | don't like the school.’
The correct reported speech of the above sentence is:

1
2
3.
4

Mohan said that daddy didn’t like the school.
Mohan told to daddy that he doesn't like the school.
Mohan told his daddy that he didn't like the school.
Daddy told Mohan that he didn’t like the school.

................... | would not help her.

Choose the correct sentence that fits the context grammatically.

1
2
3.
4

| have you
| were you
I am you

| have not been you

The elephant is bigger than the donkey.

In the above sentence:

1.

The elephant and the donkey are compared with respect to
their size.

The elephant is compared with the strength of the donkey.
The elephant is not compared with the donkey.

The elephant and the donkey are compared with all other

animals.



64.

65.

66.

67.

A: Do you like to watch films?
B: Yes,verymuch. | ................ watch films, a film a day.

Choose the correct adverb to complete the sentence in the given
context.

1 seldom

2 sometimes

3. never

4 always

For people, ................... without hard work is not possible.

Choose the correct form of the word to complete the sentence
meaningfully and grammatically.

1 successful
2 success

3. succeed
4

succeeded

Ram said, 'Wood floats on water.'
The correct reported speech of the above sentence is:

1 Ram said that wood floats on water.

2 Ram asked the wood to float on water.
3. Ram told the wood to float on water.
4

Ram said that wood floated on water.

You may use my cell phone if you need.
This sentence can be used:

1 to take permission

2 to express unwillingness
3. to give permission
4

to express some obligation



68.

69.

70.

71.

Choose the sentence that expresses ‘unreal past'.

1
2
3.
4

Choose the word that cannot be used as a verb and a noun.

| used to drive a car.
I wish | had a car.
| drove a car to his house.

May God bless you!

1 face

2 button

3. paper

4 explore

While he was sleeping, he ............. a bad dream.

Choose the correct verb to complete the sentence.

1
2
3.
4

have
had
has

IS

Choose the sentence that expresses inadequacy.

1
2
3.
4

| have enough money.
| have not enough books to read.
I have not finished my work.

I have finished my work.



72.

73.

74.

75.

Milton was a great poet. ............... of Milton was liked by all.

Choose the correct expression to complete the meaning of the
sentence above.

1 Poetry

2 A poetry

3. The poetry

4 An poetry

She was dressed ......... colours.

Choose the correct preposition to complete the sentence.

1
2
3.
4

by
out
in

with

He has not come here for ages.

In the above sentence, the expression ‘for ages' gives the meaning of:

1
2
3.
4

for a long time
for the young
for a few seconds

for the aged

Haritha said, "Let's go."

The correct reported speech of the above sentence is:

1
2
3.
4

Haritha said that she will go.
Haritha suggested that they should go.
Haritha asked them to be gone.

Haritha said that she would go.



76.
1
2
3.
4
[77-79]
7.
1
2
3.
4
78.

Choose the word with correct spelling.

fascienating
priest
culprite

museium

Read the following passage and choose the correct answers to
the questions given after

Harold a professional man who had worked in an office for
many years had a fearful dream. In it, he found himself in a
land where small slug-like animals with slimy tentacles lived
on people's bodies. The people tolerated the loathsome
creatures because after many years they grew into elephants
which then became the nation's system of transport, carrying
everyone wherever he wanted to go. Harold suddenly realized
that he himself was covered with these things, and he woke
up screaming.

In his dream Harold found the loathsome creatures:

in his village
in his own village
in a different land

in his office

Choose the phrase that helps best to bring out the precise meaning of
'loathsome creatures'.

1
2
3.
4

Security bug and slimy tentacles
Fearful dream and slug-like animals
Slug-like animals with slimy tentacles

Slug-like animals and security bug



The loathsome creatures after many years grew into.

1 elephants
2 animals
3. human beings
4

big creatures

She cut her finger.
The correct "Yes / No' question of this sentence is:

1 Does she cut her finger?
2 Did she cut her finger?

3. Is she cut her finger?
4

Do she cut her finger?

He won the match ............... his skill.

Choose the correct compound prepositional phrase to complete the
meaning of the sentence above.

1 by means of
2 in spite of

3. in place of
4

ahead of

If you had asked me, | would .............. you.
Choose the correct verb to complete the sentence.

1 have help
2 have helped
3. be helped
4 have helping



83.

84.

85.

86.

Choose the sentence that expresses adequacy.

1 She has enough money to buy a car.
2 She may buy a car.

3. She cannot buy a car.
4

She will not buy a car.

Ramana is a doctor. He is also a singer.
The meaning of these two sentences can be expressed as:

1 Ramana is a doctor but not a singer.

2 Both Ramana and the doctors are singers.
3. Ramana is not a doctor but a singer.
4

Ramana is not only a doctor but also a singer.

IPA stands for :

1 India Public Art

2 International Phonetic Association
3. Indian Public Articulation
4

Indian Phonetic Association

Vowel phonemes in English are:

1 )

2 21
3. 20
4 24



87.

88.

89.

90.

Appreciative listening is:

1
2
3.
4

Gist listening
Listening to unpleasant sounds
Enjoyment and pleasure derived from listening.

Hearing traffic sounds which are irritating.

Reading newspaper headlines is a reading strategy called

1
2
3.
4

extensive reading
intensive reading
scanning

skimming

The syllabus should be designed as per:

1
2
3.
4

the syllabus designer's capability.
the aims and objectives of the school.
the teacher's convenience of teaching.

learner's cognitive level and proficiency.

Micro teaching is

1
2
3.
4

an intensive teaching
an extensive teaching
training technique

teaching technique
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